PREPARATION ASSIGNMENTS-2 
Due Monday, January 26
1. Consider a TV antenna lead-in wire of length l=15 cm having a characteristic impedance of Z0=200 Ω and nothing connected at its end (i.e. open circuit). Find the input impedance of the line if it is to be used at 300 MHz. 
Due Wednesday, January 28
1. An open wire (air insulated) telephone line consists of two parallel lines made of copper with diameters 0.25 mm and spaced 25 cm apart. Determine 
a) The propagation constant γ

b) Its real and imaginary parts α and β 
c) The characteristic impedance Z0. 
Assume that the operation frequency is 1.5 kHz. 
Due Thursday, January 29
1.  A 70 Ω high frequency lossless line is used at a frequency where λ=80 cm with a load of 140+j90 [Ω] at z=0. Use the Smith Chart to find:

a) Reflection coefficient, Γ

b) SWR (standing wave ratio) , S

c) Distance to the first voltage maximum from the load

d) Distance to the first voltage minimum from the load

e) The impedance at voltage maximum

f) The impedance at voltage minimum

Include your Smith Chart drawings to your answers. 

Due Monday, February 2

Generate a bounce diagram for the voltage V(z,t) for a 1.5 m long lossless line characterized  by Z0 and up=2c/3 (where c is the velocity of the light) if the line is fed by a step voltage applied at t=0  by a generator circuit with Vg= 60 V and Rg=4Z0 [Ω]. The line is terminated with a load ZL=9Z0.  

Use your bounce diagram to plot the voltage variation with time at z=0.75 m. 

Due Wednesday, February 4

Do the following indefinite integrals:
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Do the following definite integrals:
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